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kq}ƒL¡À]W¥¨Oç j]¡SÇw°¥ :

S\Lh|°¥ V̈ D¾qU IuOfL¢ fOa°OÐf]jO oOÒV 
fLRu RWLaO¾]q]¨OÐ j]¡SÇw°¥ yèÈU 
vLp]¨OW. D¾qU j¤SWºfV KqO NkSf|W D¾q 
¨asLy]¤ (OMR) BeV. j]¡SÇw¾]jOSwxU 
oLNfSo y}¤ fOr¨OvLjOU, D¾qU IuOfOvLjOU 
kLaOçP. 
	 1.	 j]°tORa SrL¥ jÒ¡ (KqO Wç]p]¤ KqO A¨U 

oLNfU) v|©oLp] j]°tORa NkSvwj kNf 
¾]¤ fÐ]q]¨OÐfO SkLRs IuOfOW.

	 2.	 CT  kq}ƒLkOñW¾]¤ 100 S\Lh|°tOºV.  
S\Lh|°¥ fLRu RWLaO¾]q]¨OÐ NkWLqU 
NWoRÕaO¾]p]q]̈ OÐO.

1 •	 oOf¤ 40 vRqpOç S\Lh|°¥  wLNñ¾]¤ 
j]ÐV. 
41 •	 oOf¤ 60 vRqpOç S\Lh|°¥ Ye]f 
¾]¤ j]ÐV. 
61 •	 oOf¤ 100 vRqpOç S\Lh|°¥ yLoPz| 
wLNñ¾]¤ j]ÐV. 

	 3.	 KLSqL S\Lh|¾]jOU D\]foLp D¾qU Rfq 
R´aO¾V wq]pLp D¾qR¾ yP\]Õ]̈ OÐ 
vQ¾U oLNfU fLRu RWLaO¾]q]̈ OÐ v]i¾]¤ 
kP¡¹oLp] WrOÕ]̈ OW.

	 4.	 IsæL S\Lh|°¥ ÖU KqO oL¡ V̈ v}fU.
	 5.	 j|Pj oL¡ V̈ Csæ. KLSqL wq] D¾q¾]jOU KqO 

oL¡ V̈ v}fU sn]̈ OU
	 6.	 j]°tORa SkqV S\Lh| kOñW¾]R£SpL D¾q 

äsLy]R£SpL KqO nLY¾OU IuOfOvL¢ kLa]sæ.   

Instructions To Candidates : 
Read the following instructions before you answer the 
questions. Answers are to be given in a Separate 
OMR Answer Sheet provided inside this 
booklet. Break the seal and start answering the 
questions once asked to do so.
	 1.	P lease write your Roll Number very clearly 

(only one digit in one block) as given in your 
Admission Card.

	 2.	T here are 100 questions in this test. The 	
questions are arranged in the following order :

	 	Questions 1 to 40 belong to Science 	
Subjects.

	 	Questions 41 to 60 are on Mathematics  	
Subjects.

	 	Questions 61 to 100 are on Social 	
Science. 

	 3.	 Select the most suitable answer for each 
question and completely darken the circle  
corresponding to the correct alternative as 
shown below.

	

	 4.	 All questions carry one mark each.
	 5.	T here is no negative mark. Every correct 

answer will be awarded one mark.
	 6.	 Do not write your name on any part of the 

question booklet or on the answer sheet.
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	 1.	 A protein present in myofibril is

	 (1)	T ubulin	

	 (2)	 Actin

	 (3)	K eratin	

	 (4)	 Chondrin

	 2.	 The plant group that bear naked seeds is

	 (1)	 Angiosperms

	 (2)	P teridophyta

	 (3)	 Bryophyta

	 (4)	 Gymnosperms

	 3.	 Choose the correctly matched organism 
and its excretory organ.

	 (1)	 Insects – Kidney

	 (2)	E arthworm – Nephridia

	 (3)	 Frog – Skin

	 (4)	 Amoeba – Malpighian tubules

	 1.	 oSpLRRlNm]s]¤ WLeRÕaOÐ 
oLUy|oLeV

	 (1)	 a|OmOs]¢

	 (2)	 BW›]¢

	 (3)	 RWqLã]¢

	 (4)	 SWL¦Nc]¢

	 2.	 AjLvQf m}^°¥ WLeRÕaOÐ 	
yy| v]nLYoLeV

	 (1)	 B¢^]SpL Sy×oOW¥

	 (2)	 Rar]ScLRRlã

	 (3)	 NmSpLRRlã

	 (4)	 ^]USjLSy×oOW¥

	 3.	 wq]pLp] S^La] S\¡Ð ^}v]RppOU 
		  v]y¡^jLvpvR¾pOU f]qR´ 	

aO¨OW.
	 (1)	 xcVkh°¥ – vQ¨
	 (2)	 o¹]q – RjNl}c]p
	 (3)	 fvt – f~¨V
	 (4)	 Ao}m – oL¤k}^ ]p¢	

           jt]WW¥

There are 100 questions in all. For each 
question four alternative answers are given 
marked as (1), (2), (3), (4). From these, find 
the most appropriate answer. The number 
denoting this answer is there in the answer 
sheet against the question number concerned. 
Darken the  circle  with Blue/Black Ball Pen 
only. Record the answers thus in the OMR 
answer sheet only. Do not write anything in 
the question booklet except your Roll Number 
on the cover page and rough work in the 
space provided for the purpose.

BRW 100  S\Lh|°¥ DºV. KLSqL S\Lh|¾]jOU 
(1), (2), (3), (4) IÐV AapLtRÕaO¾]p jLsV 
v|f|ñ D¾qU v}fU RWLaO¾]ŸOºV. Avp]¤ 
wq]pLpSfL JãvOU AjOSpL^|oLpSfL 
Bp D¾qU WºOk]a]¨OW. CT D¾qR¾ 
WOr]¨OÐ jÒ¡ D¾q¨asLy]¤ AfLfV  
S\Lh|¾]Rjf]Rq DºV. CT jÒ¡ Aa°]p vQ¾U 
j}s ARsæË]¤ W r O Õ V  o x ] p O ç  m L ¥ 
Rk¢ DkSpLY]\ÿ V   WrOÕ]̈ OW. D¾q°¥ 
ANkWLqU OMR D¾q¨asLy]¤ oLNfU 
SqXRÕaO¾OW. S\Lh|°¥ Aa°]p mO ]̈R£ 
Wv¡ Sk^]¤ j]°tORa SrL¥ jÒqOU, rlV 
v¡¨]jO Svº] fÐ]ŸOç òs¾V Af]jOç 
WOr]ÕOW¥ Ku]RW oRãLÐOU IuOfqOfV.
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	 4.	 Choose the wrong statement about 
glycolysis.

	 (1)	 Glucose is converted to carbon 
dioxide and water

	 (2)	T akes place in cytoplasm

	 (3)	 Does not require oxygen

	 (4)	 The first phase of cellular respiration

	 5.	W hich one of the following is a sexually 
transmitted disease ?

	 (1)	K ala-azar

	 (2)	 Syphilis

	 (3)	 Sleeping sickness

	 (4)	T yphoid

	 6.	 Identify the macro nutrient obtained by 
plants from the soil.

	 (1)	 Molybdenum

	 (2)	 Zinc

	 (3)	 Boron

	 (4)	P hosphorus

	 7.	 Fungal cell wall is made up of

	 (1)	 Chitin

	 (2)	P eptidoglycan

	 (3)	P rotein

	 (4)	 Amino acid

	 8.	T he number of layers in meninges is

	 (1)	 2

	 (2)	 1

	 (3)	 4

	 (4)	 3

	 4.	 RRYæS¨Lt]y]y]Rj WOr]\ÿV  RfãLp 	
NkñLvj f]qR´aO¨OW.

	 (1)	 Yæ PS¨Ly]Rj,  WL¡m¦ 	
cSpLWVRRycOU ^svOoLp] 

			  v]Za]Õ]¨OÐO.

	 (2)	 SWLwNhv|¾]¤ ja¨OÐO.

	 (3)	 KLWõ]^¢ Bvw|o]sæ.

	 (4)	 SWLww~yj¾]R£ Bh|ZŸU

	 5.	 \OvRa j¤W]pvp]¤ RRsUY]W 	
SqLYU JfV ?

	 (1)	 WLs&Ay¡
	 (2)	 y]l]s]yV
	 (3)	 yæ}k]UYV y]¨VRjy V

	 (4)	 RRaSlLpVcV

	 6.	 yy|°¥ V̈ o¹]¤ j]ÐOU sn]̈ OÐ 
òPsSkLxWU f]q]\ÿr]pOW.

	 (1)	 SoLt]mVc]jU

	 (2)	 y]ËV

	 (3)	 SmLSrL¦

	 (4)	 SlLyVlryV

	 7.	 lUYy]R£ SWLwn]¾] j]¡o]\ÿ]	
q]¨OÐfV

	 (1)	 RRWã]¢
	 (2)	 RkkVã]ScLRRYæ¨¢
	 (3)	 SNkLŸ}¢
	 (4)	 Ao]SjL By]cV

	 8.	 Roj]Æy]Rs kLt]WtORa 	 I¹U
	 (1)	 2	
	 (2)	 1
	 (3)	 4	
	 (4)	 3	
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	 9.	 Delta cells in pancreas secrete

	 (1)	 Glucagon

	 (2)	 Somatostatin

	 (3)	 Insulin

	 (4)	P ancreatic polypeptide

	 10.	 Quickwilt in pepper is caused by

	 (1)	 Bacteria

	 (2)	N ematode

	 (3)	 Virus

	 (4)	 Fungus

	 11.	T he products of light reaction are

	 (1)	 Oxygen, ATP, NADPH

	 (2)	 ATP, CO2, NADPH

	 (3)	 CO2, Oxygen, ATP

	 (4)	 ADP, Oxygen, NADPH

	 12.	 An organ that has the capacity to 
regenerate its damaged cells is

	 (1)	L ungs

	 (2)	H eart

	 (3)	L iver

	 (4)	K idney

	 13.	 A plant hormone known as stress 
hormone is

	 (1)	 Gibberellin

	 (2)	 Cytokinin

	 (3)	 Auxin

	 (4)	 Abscisic acid

	 9.	 kL¢NW]pLy]Rs Rc¤ã 		
SWLw°¥ Nyv]¨OÐfV

	 (1)	 YæP¨SYL¦

	 (2)	 RyLoLSãLðLã]¢

	 (3)	 C¢yOs]¢

	 (4)	 kL¢NW]pLã]WV 
		  SkLt]	RkkVRRãcV

	 10.	 WOqOoOtW]Rs NhOfvLŸ¾]jV 	
WLqeoLeV

	 (1)	 mLW›}q]p
	 (2)	 j]oSãLcV
	 (3)	 RRvryV
	 (4)	 lUYyV

	 11.	 NkWLwZŸ¾]R£ D¤ÕÐ°tLeV

	 (1)	 KLWõ]^¢, ATP, NADPH

	 (2)	 ATP, CO2, NADPH

	 (3)	 CO2, KLWõ]^¢, ATP

	 (4)	 ADP, KLWõ]^¢, NADPH

	 12.	 jw]\ÿO SkLWOÐ SWLw°Rt 
		  kOj¡j]¡o]¨L¢ Wu]vOç Avp 

voLeV

	 (1)	 w~LySWLwU
	 (2)	 zQhpU
	 (3)	 Wq¥
	 (4)	 vQ¨

	 13.	 RNy›yV SzL¡SoL¦ IÐr]pRÕaOÐ 
yy|SzL¡SoL¦ BeV

	 (1)	 ^]mrs]¢

	 (2)	 RRySãLW]j]¢

	 (3)	 KLWõ]¢

	 (4)	 AmVRyy]WV By]cV
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	 14.	W hich one of the following is correct 
about vein ?

	 (1)	 Valves are present

	 (2)	T hick wall

	 (3)	 Carries blood in high speed and 
high pressure

	 (4)	 Carries blood from the heart

	 15.	W hich of the following is the correct 
electronic configuration of Gadolinium 
(Z = 64) ?

	 (1)	 [Xe] 4f9 5s1	

	 (2)	 [Xe] 4f75d1 6s2

	 (3)	 [Xe] 4f8 6d2	

	 (4)	 [Xe] 4f6 5d2 6s2

	 16.	T he method used to extract oils which 
give fragrance to flowers is

	 (1)	 Fractional distillation

	 (2)	 Steam distillation

	 (3)	 Sublimation

	 (4)	 Crystallisation

	 17.	W hich of the following pairs have the 

same number of atoms ?

	 (1)	 16 g of O2(g) and 4 g of H2(g)

	 (2)	 16 g of O2(g) and 44 g of CO2(g)

	 (3)	 28 g of N2(g) and 16 g of O2(g)

	 (4)	 12 g of C(s) and 23 g of Na(s)

	 14.	 y]qRp WOr]\ÿV wq]pLpfV JfV ?

	 (1)	 vL¤vOW¥ WLeRÕaOÐO

	 (2)	 WŸ] WPa]p n]¾]

	 (3)	 Dp¡Ð SvY¾]sOU o¡Ç¾] 	
sOoOç q©yUvzjU

	 (4)	 zQhp¾]¤ j]ÐV q©R¾ 	
yUvzjU R\áOÐO

	 15.	 \OvRaR¨LaO¾]q]¨OÐvp]¤ 
JfLeV YScLs]j]p (Z = 64) ¾]R£ 
wq]pLp CsSNW›L¦ v]j|LyU ?

	 (1)	 [Xe] 4f9 5s1

	 (2)	 [Xe] 4f75d1 6s2

	 (3)	 [Xe] 4f8 6d2

	 (4)	 [Xe] 4f6 5d2 6s2

	 16.	 kP¨tORa yOYÌ¾]jV WLqeoLp 
I¹WRt Avp]¤ j]ÐOU Sv¡f]q]
R\ÿaO¨OÐf]jOkSpLY]¨OÐ q}f]
pLeV

	 (1)	 BUw]W Sy~hjU

	 (2)	 j}qLv]Sy~hjU

	 (3)	 DfVkgjU

	 (4)	 NW]ðs}WqeU

	 17.	 \OvRaR¨LaO¾]q]¨OÐvp]¤ 
JfV S^La]Wt]sLeV fOs|I¹U 
Bã°¥ DçfV ?

	 (1)	 16 g O2(g) pOU 4 g H2(g) pOU

	 (2)	 16 g O2(g) pOU 44 g CO2(g) pOU

	 (3)	 28 g N2(g) pOU 16 g O2(g) pOU

	 (4)	 12 g C(s) DU 23 g Na(s) pOU
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	 18.	T he elements with atomic numbers  
16, 34, 52 are all

	 (1)	 noble gases

	 (2)	 halogens

	 (3)	 chalcogens

	 (4)	 heavy metals

	 19.	 Identify the correct statement(s) in 
relation to the following reaction : 

		  Zn + 2HCl → ZnCl2 + H2.

	 a.	 Zinc is acting as an oxidant

	 b.	 Chlorine is acting as a reductant

	 c.	H ydrogen ion is acting as an 
oxidant

	 d.	 Zinc is acting as a reductant

	 (1)	 (a) and (d)

	 (2)	 (b) and (c)

	 (3)	 (c) and (d)

	 (4)	 (a) and (c)

	 20.	W hich of the following alkali metal is 

least reactive when treated with water ?

	 (1)	L i	 (2)	N a

	 (3)	K	  (4)	 Cs

	 21.	T he correct IUPAC name for  
CH2 = C(CH3) – CH = CH2 is

	 (1)	 2-methylbutane

	 (2)	 2-methyl, 1, 3-butadiene

	 (3)	 1, 3-pentadiene

	 (4)	 2-methylbutene

	 18.	 ASãLo]W yUX|W¥ pgLNWoU 16, 
34, 52 IÐ]vpLp oPsW°tLeV

	 (1)	 D¤¨QìvLfW°¥
	 (2)	 zLRsL^jOW¥
	 (3)	 \L¤R¨L^jOW¥
	 (4)	 ZjSsLz°¥

	 19.	 Zn + 2HCl → ZnCl2 + H2; CT Nkv¡ 
¾jR¾ yUmÌ]\ÿ wq]pLp 	
NkñLvjW¥ f]q]\ÿr]pOW.

	 (a)	 y]ËV KLWõ}WLq]pLeV

	 (b)	 SWæLr]¢ j]SqLWõ}WLq]pLeV

	 (c)	 RRzNc^¢ ASpL¦ 	
		  KLWõ}WLq]	pLeV

	 (d)	 y]ËV j]SqLWõ}WLq]pLeV

	 (1)	 (a) pOU (d) pOU	

	 (2)	 (b) pOU (c) pOU

	 (3)	 (c) pOU (d) pOU

	 (4)	 (a) pOU (c) pOU

	 20.	 \OvRaR¨LaO¾]q]¨OÐvp]¤ JfV 
B¤¨s] SsLz¾]jLeV ̂ svOoLp] 
Nkv¡¾]¨OSÒL¥ NW]pLw}sf 
JãvOU WOrvOçfV ?

	 (1)	L i	 (2)	N a

	 (3)	K 	 (4)	 Cs

	 21.	 CH2 = C(CH3) – CH = CH2 IÐ 
yUpO©¾]R£ wq]pLp IUPAC 
jLooLeV

	 (1)	 2-o}RRg¤ m|PRŸpV¢
	 (2)	 2-o}RRg¤,   
		  1, 3-m|PŸLRRcCT¢
	 (3)	 1, 3-Rk£LRRcCT¢
	 (4)	 2-o}RRg¤m|PŸ}¢
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	 22.	W hich of the following is an aerosol ?

	 (1)	 Automobile exhaust

	 (2)	 Shaving cream

	 (3)	 Milk

	 (4)	 Rubber

	 23.	 An element ‘X’ has the electronic 
configuration 2, 8, 8, 2. What is the 
formula and nature of its oxide ?

	 (1)	 XO, Neutral

	 (2)	 XO2, Acidic

	 (3)	 XO2, Amphoteric

	 (4)	 XO, Basic

	 24.	 Match the following :

	 	C olumn A	C olumn B

	 a.	H gS	P .	P yrolusite

	 b.	 Fe2O3	 Q.	 Cinnabar

	 c.	P bS	 R.	H aematite

	 d.	 MnO2	 S.	 Galena

	 (1)	 a – Q	 b – R	 c – S	 d – P

	 (2)	 a – P	 b – Q	 c – R	 d – S

	 (3)	 a – Q	 b – R	 c – P	 d – S

	 (4)	 a – S	 b – R	 c – Q	 d – P

	 25.	W hat is the mass of hydrochloric 
acid required to neutralize 500 ml of  
0.5 molar sodium hydroxide ?

	 (1)	 9.125 g

	 (2)	 18.5 g

	 (3)	 36.5 g

	 (4)	 40 g

	 22.	 \OvRaR¨LaO¾]q]¨OÐvp]¤ 
IpVSrLSyL¥ JfLeV ?

	 (1)	 SoLSŸL¡vLzj kOW
	 (2)	 Sxv]UYV NW}U
	 (3)	 kL¤
	 (4)	 rmÿ¡

	 23.	 ‘X’ IÐ oPsW¾]R£ CsSNW›L¦ 
v]j|LyU 2, 8, 8, 2 BeV. Cf]R£ 
KLWVRRyc]R£ yPNfvLW|vOU 
y~nLvvOU IÍLeV ?

	 (1)	 XO, j]¡v}q|U
	 (2)	 XO2, Ay]c]WV
	 (3)	 XO2, BUSlLRŸr]WV
	 (4)	 XO, Smy]WV

	 24.	 S\qOUka] S\¡¨OW.
	

SWLtU A SWLtU B
  a. HgS P. RRkSrLsORRyãV
  b. Fe2O3 Q. y]ÐmL¡
  c. PbS R. SzoRRããV
  d. MnO2 S. Ys}j

	 (1)	 a – Q	 b – R	 c – S	 d – P

	 (2)	 a – P	 b – Q	 c – R	 d – S

	 (3)	 a – Q	 b – R	 c – P	 d – S

	 (4)	 a – S	 b – R	 c – Q	 d – P

	 25.	 500ml ;  0.5 SoLtL¡ SyLc]pU 
RRzSNcLWVRRycV sLpj]Rp j]¡v}
q|oL¨LjLvw|oLp RRzSNcLSWæLr]WV 
By]c]R£ oLyV INf ?

	 (1)	 9.125 g	
	 (2)	 18.5 g
	 (3)	 36.5 g	

	 (4)	 40 g

-6-
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	 26.	W hich of the following compound gives 
effervescence with sodium bicarbonate 
solution ?

	 (1)	 C2H4O

	 (2)	 C2H4O2

	 (3)	 C2H6O

	 (4)	 C3H6O

	 27.	 A colourless solution changes gradually 
blue, when we put some copper turnings 
into it. The solution is most likely to be

	 (1)	 Ferrous sulphate solution

	 (2)	 Magnesium nitrate solution

	 (3)	 Silver nitrate solution

	 (4)	 Copper sulphate solution

	 28.	 A boy moving along a circular path of 
radius 10 m completes 3/4th of the circle 
in 10 sec. The magnitude of speed and 
velocity are

	 (1)	 4.71 m/s and 47.1 m/s

	 (2)	 4.71 m/s and 1.41 m/s

	 (3)	 1.41 m/s and 4.71 m/s

	 (4)	 1.41 m/s and 1.41 m/s

	 29.	T wo objects have masses in the ratio 1 : 2. 

If the forces acting on them are in the ratio 

2 : 1 the ratio of their accelerations is

	 (1)	 1 : 1

	 (2)	 1 : 2

	 (3)	 2 : 1

	 (4)	 4 : 1

	 26.	 \OvRaR¨LaO¾]q]¨OÐvp]¤ 
JfV yUpO©oLeV  SyLc]pU 
RRmWL¡mSeãOoLp] S\qOSÒL¥ 
jOq´O RkL°OÐfV ?

	 (1)	 C2H4O	

	 (2)	 C2H4O2

	 (3)	 C2H6O	

	 (4)	 C3H6O

	 27.	 j]ro]sæL¾ KqO sLpj]p]Ss V̈ WOr\ÿV 
		  SWLÕ¡ \OqO¥ S\¡ ÖSÒL¥ Af]R£ 
		  j]rU NWSoe j}spLp] oLrOÐO. 
		  CT sLpj]pLeV	
	 (1)	 RlryV y¥SlãV sLpj]
	 (2)	 o®}x|URRjSNaãV sLpj]
	 (3)	 y]¤v¡ RRjSNaãV sLpj]

	 (4)	 SWLÕ¡ y¥SlãV sLpj]	

	 28.	 10 o}ã¡ BqoOç  vQ¾LWLqoLp  
kLfp]sPRa yµq]¨OÐ KqO WOŸ] 
vQ¾¾]R£ 3/4 nLYU  10  Ry¨£]¤ 
kP¡¾]pL¨OÐORvË]¤ SvYf, 
NkSvYU Cv pgLNWoU

	 (1)	 4.71 m/s, 47.1 m/s	

	 (2)	 4.71 m/s, 1.41 m/s

	 (3)	 1.41 m/s, 4.71 m/s	

	 (4)	 1.41 m/s, 1.41m/s

	 29.	 qºO vñO¨tORa oLyOW¥ fÚ]
sOç AjOkLfU  1:2,  Avp]¤ 
NkSpLY]¨RÕaOÐ ms°¥ fÚ]
sOç A j O k L f U  2 :1  I Ð L ¤ 
AvpORa 	 f~qe°¥ fÚ]sOç 
AjOkLfU

	 (1)	 1 : 1	
	 (2)	 1 : 2
	 (3)	 2 : 1	

	 (4)	 4 : 1
-7-



Class – X	SAT

M-1

	 30.	 A current of 2 mA is flowing through 
a circuit for 10 sec. The number of 
electrons flowing through the circuit 
during this time will be about 

	 (1)	 6 × 1018 	 (2)	 120 × 1018

	 (3)	 20	 (4)	 120 × 1015

	 31.	T he smallest unit of length among the 
following is

	 (1)	 Micrometer

	 (2)	N anometer

	 (3)	 Millimeter

	 (4)	L ight year

	 32.	 Resistivity depends on
	 (1)	L ength of the conductor
	 (2)	 Area of cross section of the 	

conductor
	 (3)	N ature of the conductor 

	 (4)	 All the above

	 33.	 An object is kept at a distance of 1 m 
from a convex lens of power 2 dioptre. 
The image is formed at a distance 
______ from the object.

	 (1)	 0.5 m	 (2)	 1 m

	 (3)	 2 m	 (4)	 0.75 m

	 34.	 An object is dropped from a height h, find 
the height from the ground at which the 
kinetic energy and potential energy are 
in the ratio 3 : 4.

	 (1)	
3h
4 	 (2)	 4h

3

	 (3)	
4h
7 	 (4)	 3h

7
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	 30.	 y¡¨}Ÿ]¤ WPa] 2 o]sæ] BÒ]p¡ 
RRvh|Of] 10 Ry¨£V yopU 
Nkvz]¨OÐORvË]¤ CT WLsp 
tv]¤ Af]¤ WPa] KuOWOÐ CsSNW›L 
eOWtORa I¹U JWShwU

	 (1)	 6 × 1018	 (2)	 120 × 1018

	 (3)	 20	 (4)	 120 × 1015

	 31.	 fÐ]q]¨OÐvp]¤ j}t¾]R£ 	
JãvOU WOr´ pPe]ãV

	 (1)	 RRoSNWLo}ã¡	

	 (2)	 jLSjLo}ã¡

	 (3)	 o]sæ]o}ã¡

	 (4)	 NkWLwv¡xU

	 32.	 ry]ð]v]ã] IÍ]Rj Bèp]\ÿ]q]̈ OU ?

	 (1)	 \LsW¾]R£ j}tU

	 (2)	 \LsW¾]R£ SMhskqÕtvV

	 (3)	 \LsW¾]R£ y~nLvU

	 (4)	 So¤Õr´v IsæLU

	 33.	 2  cSpLk Vã¡  kv¡ Dç Kq O 
SWL¦RvWõ V  Rs¢y]¤ j]ÐOU 
1 o}ã¡ AWRspOç KqO vñOv]
R£ Nkf]m]UmU vñOv]¤ j]ÐV 
______________ AWs¾]sLp]	
q]¨OU.

	 (1)	 0.5 m	 (2)	 1 m

	 (3)	 2 m	 (4)	 0.75 m

	 34.	 KqO vñOv]Rj h Dpq¾]¤ j]ÐOU 
fLSu¨]aOÐO. nPj]qÕ]¤ j]ÐOU 
INf Dpq¾]Rs¾OSÒLuLeV B 
vñOv]R£ Yf]SWL¡²vOU  ò]f]
SWL¡²vOU fÚ]sOç AjOkLfU 3 : 4 
Bp]q]¨OÐfV ?

	 (1)	
3h
4 	 (2)	 4h

3

	 (3)	
4h
7 	 (4)	 3h

7
	



Class – X	SAT

M-1 P.T.O.

	 35.	W hich of the following colour 
combination of light gives white light ?

	 (1)	 Cyan and red

	 (2)	 Blue and red

	 (3)	 Magenta and red

	 (4)	 Yellow and red

	 36.	T he speed with which the earth revolves 

round the sun is about

	 (1)	 1 km/s

	 (2)	 11.2 km/s

	 (3)	 30 km/s

	 (4)	 8 km/s

	 37.	T he voltage supplied to a bulb is halved. 
Then the power consumed becomes 

	 (1)	T wo times

	 (2)	 Four times

	 (3)	H alved

	 (4)	 One-fourth

	 38.	T he net force acting on a book placed 
on a table is

	 (1)	 Force of gravity

	 (2)	 Force exerted by table on the 
book

	 (3)	 Frictional force

	 (4)	 Zero
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	 35.	 N k W L w ¾ ] R £  f L R u Õ r p O Ð 
JfV S^Lc]pLeV ivtNkWLwU 
DºL¨OÐfV ?

	 (1)	 ypjOU \OvÕOU

	 (2)	 j}spOU \OvÕOU

	 (3)	 o^£pOU \OvÕOU

	 (4)	 o´pOU \OvÕOU

	 36.	 yPq|jO\OãOU vsU vàOÐ nPo]pORa 
yµLqSvYU JWShwU

	 (1)	 1 km/s	

	 (2)	 11.2 km/s

	 (3)	 30 km/s	

	 (4)	 8 km/s

	 37.	 KqO m¥m]¤ NkSpLY]¨OÐ 	
SvL¥SŸ^V kWOf]pLWOSÒL¥ kv¡

	 (1)	 2 oa°V	

	 (2)	 jLsO oa°V

	 (3)	 kWOf]pLWOÐO

	 (4)	 jLs]RsLÐV BWOÐO

	 38.	 SowÕOr¾V v\ÿ]q]¨OÐ KqO mO¨]¤ 
AjOnvRÕaOÐ kq]efmsU

	 (1)	 YOqOf~LW¡xemsU

	 (2)	 Sow mO¨]¤ NkSpLY]¨OÐ 	
msU

	 (3)	 Z¡xe msU

	 (4)	 kP^|U
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	 39.	T hree identical resistors connected 
in parallel and connected to a source 
dissipates a power P. The power 
dissipated in each resistor when they 
are connected in series and connected 
to the same source will be 

	 (1)	 3P	 (2)	 9P

	 (3)	 p
3

	 (4)	
p
9

	 40.	T he velocity-time graph of an object 
thrown vertically up is

	 (1)	

	 (2)	

	 (3)	

	 (4)	

	 39.	 yoLjoLp oPÐV Nkf]SqLiW°¥ 
yoLÍqoLp] KqO SNyLfô]¤ mÌ]
Õ]¨OSÒLuOç kv¡ jìU P IË]¤ 
Av Sèe]pLp] Za]Õ]¨OSÒL¥ 
KLSqL Nkf]SqLiW¾]sOU DºLWOÐ 
kv¡ jìU

	 (1)	 3P	 (2)	 9P

	 (3)	 p
3

	 (4)	
p
9

	 40.	 oOWt]SsàV Ir]´]q]¨OÐ vñOv]
R£ NkSvYvOU yopvOU fÚ]sOç 
NYLlV

	 (1)	

	 (2)	

	 (3)	

	 (4)	
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	 41.	W hich of the following is the ones place 
of the product 333 × 845 ?

	 (1)	 1	 (2)	 2

	 (3)	 3	 (4)	 4

	 42.	 India has a run rate of 3.2 in the first 
10 overs. What should be the run rate 
in remaining 40 overs to win a game of 
target 282 runs ?

	 (1)	 6.25	 (2)	 5.5

	 (3)	 7.25	 (4)	 8

	 43.	 If the figure given below has three 
identical squares, then what is the value 
of sin x ?

		

	 (1)	
3
10

	 (2)	
1
3

	 (3)	 1

	 (4)	
1
10

	 44.	 If A(2, 3), B(5, 7), C(11, 15) are three 
collinear points, then B divides the line 
joining A, C in the ratio

	 (1)	 1 : 1

	 (2)	 1 : 3

	 (3)	 1 : 2

	 (4)	 3 : 1

	 41.	 fÐ]q]¨OÐvp]¤ 333 × 845 IÐ 
Y O e j l s ¾ ] R s  K Ð O W t O R a 
òLj¾Oç yUX|SpfLeV ?

	 (1)	 1	 (2)	 2

	 (3)	 3	 (4)	 4

	 42.	 CÍ|pORa Bh| 10 KLvrOWt]Rs r¦ 
wqLwq] 3.2 BeV. sƒ|U 282 r¦ 
BReË]¤ Cj]pOç 40 KLvrOWt]
Rs r¦ wqLwq] INfpLp]q]¨eU ?

	 (1)	 6.25	 (2)	 5.5

	 (3)	 7.25	 (4)	 8

	 43.	 \]Nf¾]¤ KqO SkLRspOç oPÐO 
yo\fOq°tLpL¤ sin x R£ v]s 
IÍLeV ?

		

	 (1)	
3
10

	 (2)	
1
3

	 (3)	 1

	 (4)	
1
10

	 44.	 A(2, 3), B(5, 7), C(11, 15) IÐ]v 
KqO vqp]Rs m]ÎO¨tLpL¤  B 
IÐ m]ÎO A, C Rp SpL ]̂Õ]̈ OÐ 
vqRp JfV AUwmÌ¾]sLeV 
nLY]¨OÐfV ?

	 (1)	 1 : 1	

	 (2)	 1 : 3

	 (3)	 1 : 2	

	 (4)	 3 : 1
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	 45.	 Consider a l ine passing through  
A(1, 2) and B(7, 10). Find a point on the 
above line which is 15 units away from 
the point A.

	 (1)	 (–7, –10)

	 (2)	 (10, 14)

	 (3)	 (4, 6)

	 (4)	 (–2, –2)

	 46.	T he figure shows a circle passing 
through the points A(0, 2), O(0, 0) and 
B(4, 0). What is the centre of the circle ?

		

	 (1)	 (1, 2)

	 (2)	 (1, 1)

	 (3)	 (2, 1)

	 (4)	 (2, 2)

	 47.	H ow many cubes, each of edge 6 cm 

can be cut from a Prism of dimension 

42 cm × 36 cm × 24 cm ?

	 (1)	 134	

	 (2)	 224

	 (3)	 186

	 (4)	 168

	 45.	 A (1, 2), B(7,10) IÐ]vp]sPRa WaÐO 
SkLWOÐ KqO vq kq]Ye]̈ OW. A ¤ 

 		  j]ÐOU 15  pPe]ãV AWs¾]sOç 
vqp]Rs oRãLqO m]ÎO JfV ?

	 (1)	 (–7, –10)	

	 (2)	 (10, 14)

	 (3)	 (4, 6)	

	 (4)	 (–2, –2)

	 46.	 \]Nf¾]¤ A(0, 2), O(0, 0), B(4, 0) IÐ} 
m]ÎO¨t]sPRa WaÐO SkLWOÐ KqO 
vQ¾U fÐ]q]¨OÐO. vQ¾¾]R£ 
SWNÎU JfLeV ?

		

	 (1)	 (1, 2)

	 (2)	 (1, 1)

	 (3)	 (2, 1)

	 (4)	 (2, 2)

	 47.	 42 Ry. o}, 36 Ry. o},  24 Ry. o}. vsOÕoOç 
KqO \fOqñPk]Wp]¤ j]ÐOU 6 Ry. o} 

		  j}toOç INf W|PmOW¥ oOr]R\ÿaO¨L¢ 
yLi]¨OU ?

	 (1)	 134	

	 (2)	 224

	 (3)	 186	

	 (4)	 168
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	 48.	T hree bells commence tolling together 
and each toll after 30 minutes, 1 hour 
and 45 minutes. After what interval will 
they again toll together ?

	 (1)	 3 hrs	

	 (2)	 150 mts

	 (3)	 2 hrs and 40 mts

	 (4)	 200 mts

	 49.	 In the figure AB is 50 cm. What is the 
length of the side DC ?

		

	 (1)	 50 3 cm

	 (2)	 25 3 cm

	 (3)	
25 cm

3

	 (4)	
50 cm

3

	 50.	 If Jan. 1, 2018 is Monday, what day of 
the week was Jan. 1, 2015 ?

	 (1)	T uesday

	 (2)	W ednesday

	 (3)	T hursday

	 (4)	 Friday
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	 48.	 oPÐV oe]W¥ pgLNWoU 30 o]j]ŸV, 
		  1 oe]¨P¡, 45 o]j]ŸV IÐ} CaSvt 

Wt]¤ wmÉ]¨OÐO IÐV WqOfOW. 
Cv KqOo]\ÿV wmÉ]¨OÐ CaSvtW¥ 
WRº¾OW.

	 (1)	 3 oe]¨PrOW¥

	 (2)	 150 o]j]ŸOW¥

	 (3)	 2 oe]¨PrOU 40 o]j]ŸOU

	 (4)	 200 o]j]ŸOW¥

	 49.	 \]Nf¾]¤ AB = 50 Ry£]o}ã¡ BpL¤ 
DC pORa j}tU IÍLeV ?

		

	 (1)	 50 3 cm

	 (2)	 25 3 cm

	 (3)	
25 cm

3

	 (4)	
50 cm

3

	 50.	 ^jOvq] 1, 2018 f]ËtLuV\pLpL¤ 
^jOvq] 1,  2015 BuV\p]Rs  JfV  
h]vy oLp]q]¨OU ?

	 (1)	 R\LvÿLuV\

	 (2)	 mOijLuV\

	 (3)	 v|LuLuV\
	 (4)	 Rvç]pLuV\Ü

Ry. o}.

Ry. o}.

Ry. o}.

Ry. o}.
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	 51.	 If 12 men or 16 women can do a work 

in 172 days, how long will 21 men and 

15 women together do the same work ?

	 (1)	 64 days

	 (2)	 70 days

	 (3)	 80 days

	 (4)	 95 days

	 52.	 If the surface area and volume of a 
sphere are equal, then what is the 
volume of the smallest box in which it 
can be placed ?

	 (1)	 81 cubic. units

	 (2)	 32 cubic. units

	 (3)	 27 cubic. units

	 (4)	 64 cubic. units

	 53.	T ickets numbered 1 to 50 are mixed 

and one ticket is drawn from it. What is 

the probability that the ticket drawn is a 

multiple of 5 and an even number ?

	 (1)	
1
5

	 (2)	
1

10

	 (3)	
1
2

	 (4)	
1
3

	 51.	 12 kOqOxÓL¡ ARsæË]¤ 16 Nñ}W¥ 
KqO S^Ls] 172 h]vy°¥ RWLºV 
kP¡¾]pL¨L¢ Wu]pORoË]¤ 21 
kOqOxÓL¡¨OU 15  Nñ}W¥¨OU 
S\¡ÐV CT S^Ls] INf h]vyU 
RWLºV kP¡¾]pL¨L¢ Wu]pOU ?

	 (1)	 64 h]vy°¥

	 (2)	 70 h]vy°¥

	 (3)	 80 h]vy°¥

	 (4)	 95 h]vy°¥

	 52.	 KqO SYLt¾]R£ Dkq]fs v]ñ}¡ 
¹vOU v|LkÅvOU fOs|oLpL¤ CT 
SYLtU yPƒ]¨L¢ Wu]pOÐ JãvOU 
R\r]p RkŸ]pORa v|LkÅU IÍLeV ?

	 (1)	 81 Zj. pPe]ãOW¥

	 (2)	 32 Zj. pPe]ãOW¥

	 (3)	 27 Zj. pPe]ãOW¥

	 (4)	 64 Zj. pPe]ãOW¥

	 53.	 1 oOf¤ 50 vRq yUX|W¥ IuOf]p 
a]¨ãOW¥ CaWs¡¾]p SwxU KqO 
a]¨ãV IaO¨OÐO. a]¨ã]Rs yUX| 
5 R£ YOe]fvOU CqŸyUX|pOU 
BWLjOç yLi|f IÍLeV ?

	 (1)	
1
5

	 (2)	
1

10

	 (3)	
1
2

	 (4)	
1
3
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	 54.	 If the selling price of 40 articles is equal 
to cost price of 50 articles, then the gain 
percent is 

	 (1)	 25%

	 (2)	 15%

	 (3)	 20%

	 (4)	 24%

	 55.	W hat is the value of 

		  1 1 1. . .
1 2 2 3 8 9

+ + +
+ + +

 ?

	 (1)	 0	 (2)	 1

	 (3)	 –1	 (4)	 2

	 56.	 If the sum of 3 numbers in AP is 18 and 
the sum of their square is 158, what are 
the numbers ?

	 (1)	 1, 6, 11	 (2)	 3, 6, 9

	 (3)	 0, 6, 12	 (4)	 –1, 6, 13

	 57.	 In the figure A, B, C, D, E, F are midpoints 
of the sides of equilateral triangles. What 
is the ratio of the areas of largest triangle 
to the smallest triangle ?

		

	 (1)	 4 : 1	 (2)	 8 : 1

	 (3)	 32 : 1	 (4)	 16 : 1
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	 54.	 40 yLij°tORa v]ãv]s 50 yLij 
°tORa vL°]p v]spLReË]¤, 	
sLn wfoLjU

	 (1)	 25%	

	 (2)	 15%

	 (3)	 20%	

	 (4)	 24%

	 55.	 1 1 1. . .
1 2 2 3 8 9

+ + +
+ + +

 

	 	 R£ v]s IÍLeV ?

	 (1)	 0	 (2)	 1

	 (3)	 –1	 (4)	 2

	 56.	 y o L Í q  S è e ] p ] s O ç  o P Ð V 
yUX|WtORa fOW 18 BeV. CvpORa 
v¡Y°tORa fOW 158  BpL¤ 
yUX|W¥ JfLeV ?

	 (1)	 1, 6, 11	 (2)	 3, 6, 9

	 (3)	 0, 6, 12	 (4)	 –1, 6, 13

	 57.	 A, B, C, D, E, F IÐ]v yonO^	
		  Nf]SWLe°tORa vw°tORa oi| 
		  m]ÎO¨tLeV. vs]p Nf]SWLe¾]

R£pOU R\r]p Nf]SWLe¾]R£pOU 	
kqÕtv]R£ AUwmÌU IÍLeV ?

		

	 (1)	 4 : 1	 (2)	 8 : 1

	 (3)	 32 : 1	 (4)	 16 : 1
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	 58.	 If 12 + 22 + 32 + . . . +102 = 385, then what 

is the value of 22 + 42 + 62 + . . . +202 ?

	 (1)	 1540

	 (2)	 770

	 (3)	 1925

	 (4)	 1000

	 59.	 The figure shows a regular pentagon 
inscribed in a circle with centre C. The 
value of x is

		

	 (1)	 54°

	 (2)	 36°

	 (3)	 72°

	 (4)	 80°

	 60.	W hat is the ratio of areas of incircle to 

circumcircle of an equilateral triangle ?

	 (1)	 1 : 4

	 (2)	 1 : 2

	 (3)	 1 : 3

	 (4)	 2 : 3
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	 58.	 12 + 22 + 32 + . . . +102 = 385 BpL¤  

22 + 42 + 62 + . . .  +202 R£ v]s IÍLeV ?

	 (1)	 1540

	 (2)	 770

	 (3)	 1925

	 (4)	 1000

	 59.	 \]Nf¾]¤ yokµnO^¾]R£ kq]

vQ¾ SWNÎU C BeV. x R£ v]s

		

	 (1)	 54°

	 (2)	 36°

	 (3)	 72°

	 (4)	 80°

	 60.	 K q O  y o n O ^ N f ] S W L e ¾ ] R £ 
AÍ¡vQ¾¾]R£pOU kq]vQ¾¾]
R£pOU kqÕtvOW¥ fÚ]sOç 
AUwmÌU IÍLeV ?

	 (1)	 1 : 4	

	 (2)	 1 : 2

	 (3)	 1 : 3	

	 (4)	 2 : 3
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	 61.	 X]sLl¾V NkòLjU BqUn] 
		  \ÿfV 

	 (1)	 mUYL¥ v]n^j¾]Rj 
			  f]qLp] Nkf]Sxi]¨L¢	

	 (2)	 ^Ls]p¢vLsLmLYV yUnv¾]
Rjf]qLp] Nkf]Sxi]¨L¢

	 (3)	 Xs}lpORa Ai]WLqR¾ 	
yUqƒ]¨L¢	

	 (4)	 KÐLUSsLWpOÈ¾]Rjf]qLp] 
Nkf]Sxi]¨L¢

	 62.	 CÍ|pORa Shw}p NkòLjvOoLp] 
mÌRÕŸ \]s yUnv°tLeV 

		  \OvRa fÐ]ŸOçfV. AvpORa 
w q ] p L p  W L s Y e j L N W o U 
WRº¾OW.

	 (A)	 DÕV yf|LNYzU	

	 (B)	 y~Shw] NkòLjU

	 (C)	 sLSzL¡ ySÚtjU	

	 (D)	 \Tq]&\TqyUnvU

	 (1)	 B, C, D, A	

	 (2)	 B, D, C, A

	 (3)	 B, A, C, D	

	 (4)	 B, A, D, C

	 63.	 \OvRa fÐ]ŸOçf]¤ SpL^]¨L¾ 
SffV ?

	 (1)	 SsLUYVoL¡\ÿV	 –	 RR\j}yV
				    v]kævU
	 (2)	 RaÐ]yV SWL¡ŸV	–	 NlµV  
		  Nkf]³		  v]kævU

	 (3)	 SmLð¢ a}	 –	 ASoq]¨¢
		  kL¡Ÿ]		  y~LfNÍ| 	

		  yoqU
	 (4)	 q©qPƒ]foLp – sLã]jSo		

`LpLrLuV\		  q]¨¢
		  	  	v]kævU	 	   

	 61.	T he Khilafat Movement was started 

	 (1)	T o protest against the partition of 
Bengal

	 (2)	T o protest against the Jallianwalla 
Bagh incident

	 (3)	T o defend the power of the Khalifa

	 (4)	T o protest against the First 
World War

	 62.	 Some events related to India’s National 
Movement are given below. Identify the 
correct chronological order.

	 A.	 Salt Satyagraha

	 B.	 Swadeshi Movement

	 C.	L ahore Congress

	 D.	 Chauri-Chaura Incident

	 (1)	 B, C, D, A

	 (2)	 B, D, C, A

	 (3)	 B, A, C, D

	 (4)	 B, A, D, C

	 63.	W hich among the following is wrongly 
related ?

	 (1)	 Long March	 –	 Chinese
				    Revolution

	 (2)	T ennis Court	 –	 French 
		  Oath		  Revolution

	 (3)	 Boston Tea	 –	 American war of 
		P  arty		  Independence

	 (4)	 Bloody Sunday	 –	L atin American
				     Revolution
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	 64.	N ame the British Prime Minister who 
participated in the Munich Conference 
of 1938.

	 (1)	W inston Churchill

	 (2)	N eville Chamberlain

	 (3)	 stanley Baldwin

	 (4)	 Ramsay Mac Donald

	 65.	T he Rebellion held in the kingdom of 
Bastar is an example of 

	 (1)	 Rebellion in the forest

	 (2)	P easant rebellion

	 (3)	 Rebellion of sepoys

	 (4)	P oligar revolt

	 66.	W hich among the following is the correct 
pair ?

	 (1)	 Bengali – Surendranath Banerji

	 (2)	 Voice of India – Mahatma Gandhi

	 (3)	N ew India – Lala Lajpath Rai

	 (4)	N ation – Dadabhai Naoroji

	 67.	T he Second International was held in 
Paris on the centenary of 

	 (1)	 The declaration of the rights of man 
and of the citizen

	 (2)	 Formation of the National 
Convention

	 (3)	E nd of the Reign of Terror 

	 (4)	 Fall of the Bastille Prison

	 68.	 ‘Mein Kampf’, written by Hitler, was 
published in

	 (1)	 1924	 (2)	 1925

	 (3)	 1933	 (4)	 1928

	 64.	 1938 Rs o|Pe]WV ySÚtj¾]¤ 	
kRËaO¾ Nm]Ÿ}xV NkiLjoNÍ]

	 (1)	 v]¢ð¢ \¡\ÿ]¤	

	 (2)	 Rjv]sæ] S\Um¡Rsp]¢

	 (3)	 ðL¢s] mL¥cVv]¢	

	 (4)	 rLURy oWVRcLeL¥cV

	 65.	 myVf¡ qL^|¾V jaÐ WsLkU 	
	DhLzqeoLp]ŸOçfV

	 (1)	 vj¾]Rs WsLk¾]jV	

	 (2)	 W¡xW WsLk¾]jV

	 (3)	 w]kLp]oLqORa WsLk¾]jV

	 (4)	 SkLt]Y¡ WsLk¾]jV

	 66.	 \OvRa fÐ]ŸOçf]¤ wq]pLp S^Lc] 
JfV ?

	 (1)	 mUYLt] – yOSqNÎjLgV 	
          mLj¡^]	

	 (2)	 SvLpVyV  – 	ozLÄLYLÌ]
		  KLlV CÍ|

	 (3)	 j|P CÍ| – sLsL s^VkfV rLpV

	 (4)	 Sjx¢ – hLhLnLpV jvVSrL^]

	 67.	 qºLU C£¡jLxe¤ kLq}y]¤ 
jaÐfV Jf]R£ jPrLU vL¡x]W¾]
sLp]qOÐO ?

	 (1)	 ojOx|LvWLw 	NkX|LkjU
	 (2)	 Shw}p W¦Rv¢xR£ qPk}	

WqeU
	 (3)	 n}Wq nqe¾]R£ AvyLjU
	 (4)	 mLyVf]¤ ^p]s]R£ fW¡\ÿ

	 68.	 z]ãVs¡ q\]\ÿ "Rop]¢WLUlV' Nky]
È}Wq]\ÿ v¡xU

	 (1)	 1924	 (2)	 1925

	 (3)	 1933	 (4)	 1928
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	 69.	T he Spanish civil war is considered as 
the ‘dress rehearsal’ of 

	 (1)	T he First World War

	 (2)	T he Russian Revolution

	 (3)	T he Second World War

	 (4)	T he Chinese Revolution

	 70.	T he names of some writers and their 
works are given below. Match them 
correctly.

		  Writers		  Works

	 A.	 Omar	 I.	 Rajatharangini

		K  hayyam

	 B.	 Al-Firdausi	 II.	 Geethagovindam

	 C.	K alhana	 III.	T he Rubaiyyat

	 D.	 Jayadeva	 IV.	 Shahnamah

	 (1)	 A – IV	 B – III	 C – I	 D – II

	 (2)	 A – IV	 B – III	 C – II	 D – I

	 (3)	 A – III	 B – IV	 C – II	 D – I

	 (4)	 A – III	 B – IV	 C – I	 D – II

	 71.	N ame the Iron and steel industrial firm 
started, with the assistance of Germany, 
in India.

	 (1)	 Bhilai

	 (2)	 Bocaro

	 (3)	 Rourkela

	 (4)	 Durgapur

	 69.	 y×Lj]xV Bn|ÍqWsLkR¾ 
Jf]R£  NcôV r]SzuVysLpLeV 
We¨L¨OÐfV ?

	 (1)	 KÐLU SsLWpOÈU	

	 (2)	 rx|¢ v]kævU

	 (3)	 qºLU SsLWpOÈU	

	 (4)	 RR\j}yV v]kævU

	 70.	 \]s IuO¾OWLqOSapOU AvqORa 
q\jWtOSapOU SkqOWtLeV. \OvRa 
fÐ]ŸOçfV .  AvRp wq]pLp] 
NWoRÕaO¾OW.

	      IuO¾OWL¡	         q\jW¥

	 A.	 Ko¡ XáLU	 I.	 qL^fqUY]e]

	 B.	 A¤ – l]¡hTy]	 II.	 Y}fSYLv]ÎU

	 C.	 W¤ze¢	 III.	 rOmLp]áL¾V

	 D.	 ^pShv¢	 IV.	 xLjLo

	 (1)	 A – IV	 B – III	 C – I	 D – II

	 (2)	 A – IV	 B – III	 C – II	 D – I

	 (3)	 A – III	 B – IV	 C – II	 D – I

	 (4)	 A – III	 B – IV	 C – I	 D – II

	 71.	 ^ ¡ o j ] p O R a  y z L p S ¾ L R a 
CÍ|p]sLqUn ]\ ÿ  CqOÒOqO¨O 
v|vyLpwLs

	 (1)	 n]sLp]	

	 (2)	 RmL¨LSrL

	 (3)	 rP¡S¨s	

	 (4)	 hO¡YLÕP¡
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	 72.	 Consider the following statements and 
identify the correct response from the 
options given.

		  Statement – I : The council called 
Ashtapradhan helped the Maratha ruler 
Sivaji in administration. 

	 	S tatement – II : Chawth and Sardeshmukhi 
were the two kinds of taxes that existed 
in the Maratha kingdom.

	 (1)	 Statement – I is true and Statement – II 
is false

	 (2)	 Statement – I is false and Statement – II 
is true

	 (3)	 Both the statements are true but 
Statement – II is not the correct 
explanation of Statement – I

	 (4)	 Both the statements are true 
and Statement – II is the correct 
explanation of Statement – I

	 73.	N ame the state through which the tropic 
of cancer passes ?

	 (1)	 Rajasthan	 (2)	 Bihar

	 (3)	 Odisha	 (4)	 Assam

	 74.	 Identify the correct pair.

	 (1)	 Tapti	 –	 Mahabaleswar
				    hills

	 (2)	 Godavari	 –	 Baithul district

	 (3)	K rishna	 –	N asik district

	 (4)	K averi	 –	 Bhrahmagiri hills

	 75.	W hich are the mountain ranges of the 
Peninsular plateau ?

	 (1)	 Siwalik ranges

	 (2)	K arakoran ranges

	 (3)	 Satpura ranges

	 (4)	K hasi hills

	 72.	 \OvRa fÐ]ŸOç NkñLvjW¥ 
kq]SwLi]\ÿV AjOSpL^|oLp Nkf]
WqeU fÐ]Ÿ Oçvp]¤ j]ÐOU 
WRº¾OW.

	 	 NkñLvj – I : AìNkiL¢ IÐr]
pRÕŸ yo]f] orL¾L nqeLi]
WLq]pLp w ]v^]Rp nqe¾]¤ 
yzLp]\ÿO.

	 	 NkñLvj – II : orL¾ qL^|¾]¤ 
		  j]sj]Ð qºV j]WOf]WtLp]qOÐO \

TfOU y¡ShwVoOX]pOU.
	 (1)	 NkñLvj I wq]pOU NkñLvj II 	

RfãOoLeV
	 (2)	 NkñLvj I RfãOU NkñLvj II 	

wq]pOoLeV
	 (3)	 qºV NkñLvjWtOU wq]pLeV. 

IÐL¤ NkñLvj II NkñLvj 
I R£ wq]pLp v]wh}Wqeosæ

	 (4)	 qºV NkñLvjWtOU wq]pLeV. 
NkñLvj II NkñLvj I R£ wq]
pLp v]wh}WqevOoLeV.

	 73.	 \ O v R a  j ¤ W ] p ] Ÿ O ç v p ] ¤ 
D¾qLpj SqX WaÐO SkLWOÐ KqO 
yUòLjSofV ?

	 (1)	 qL^òL¢	 (2)	 m}zL¡
	 (3)	 Kc]x	 (4)	 AyLU

	 74.	 wq]pLp S^Lc]SpfV ?

	 (1)	 fLkÅ]	 –	 ozLmSsw~¡
				    WOÐOW¥

	 (2)	 SYLhLvq] 	–	 RRmfO¤ ^]sæ

	 (3)	 WQxVe	 –	 jLy]WV ^]sæ

	 (4)	 WLSvq]	 –	  NmùY]q] 
	  			    WOÐOW¥
	 75.	 Dkh~}k}p k}bnPo]pORa nLYoLp 

osj]qSpfV ?

	 (1)	 y]vLs]WV j]qW¥
	 (2)	 WLrS¨LrU j]qW¥
	 (3)	 yfVkOq j]qW¥

	 (4)	 XLy] WOÐOW¥
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	 76.	 o¦yPe]R£ k]¢vL°¤ WLs¾]Rs 
KqO NkiLj yv]SwxfpLeV

	 (1)	 KWVSaLm¡ \PaV

	 (2)	 sO IÐ DxVe¨LãV

	 (3)	 Roc]ãSrj]p¢ Was]¤ qPkU 
RWLçOÐ \NWvLf¾]R£ 
WaÐO vqvV

	 (4)	 oLUSYL xSvuVyV

	 77.	 \OvRa j¤W]p]ŸOçvp]¤ sLãRRrãV 
o¹]Rj yUmÌ]\ÿ NkñLvjSpfV ?

	 (1)	 c¨L¢ NaLÕ V  SoXsp]Rs 	
yv]	Swx o¹]joLe]fV

	 (2)	 D p ¡ Ð  S f L f ] ¤  o u p O U 
Cav]ŸV Dp¡Ð fLkj]spOU 
AjOnvRÕaOÐ NkShw°t]¤ 
qPkRÕaOÐO

	 (3)	 CqOÒ]R£ AUwoLeV CT o¹]R£ 
j]r¾]jV WLqeU

	 (4)	 D¾qozLyofs¾]Rs oOX| 
o¹]joLe]fV

	 78.	 "Arm]¨' IÐ khU IÍ]Rj yP\]
Õ]¨OÐO ?

	 (1)	 CÍ|p]Rs KqO WL¡x]W WLsU

	 (2)	 SWqt¾]¤ WQx] R\áOÐ 	
Sfp]s CjU

	 (3)	 Kq]jU Rj¤v]¾V

	 (4)	 CÍ|p]¤ D¤ÕLh]Õ]¨OÐ 	
oOÍ]p CjU WLÕ]¨OqO¨¥

	 79.	 oLUYj}yV D¤ÕLhj¾]¤ JãvOU 
oOÐ]sOç CÍ|¢ yUòLjSofV ?

	 (1)	 _L¡X¼V

	 (2)	 Kc]x

	 (3)	 M¾}yVYdV

	 (4)	 kwV\]o mUYL¥

	 76.	 A peculiar characteristics of the retreating 
monsoon season

	 (1)	 October heat

	 (2)	L oo the hot wind

	 (3)	T he onset of the cyclone which 
forms in the Mediterranean sea

	 (4)	 Mango showers

	 77.	 Identity the statement related to laterite 
soils.

	 (1)	T ype of soil in Deccan trap 
region

	 (2)	 Found in regions of high rainfall 
and intermittent high temperature 

	 (3)	T he colour of this soil is due to the 
presence of iron

	 (4)	 Major soil of the North India 
plains

	 78.	T he term ‘Arabica’ indicates

	 (1)	 A crop season of India

	 (2)	 A type of tea cultivated in Kerala

	 (3)	 A type of rice seeds

	 (4)	H igh quality coffee produced in 
India

	 79.	T he Indian state which produces the 
largest quantity of manganese is 

	 (1)	 Jharkhand

	 (2)	 Odisha

	 (3)	 Chhattisgarh

	 (4)	W est Bengal
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	 80.	 CÍ|p]Rs NkiLj BeSvL¡² 
j]sp°Rt Av ò]f]R\áOÐ 
yUòLj°tOoLp] S^Lc]S\¡ 
¨OW.

	 (1)	 fLqLkP¡	 (a)	 fo]uVjLaV
	 (2)	 jSYLr	 (b)	 qL^òL¢
	 (3)	 W¤ÕL¨U	 (c)	 D¾¡ NkShwV
	 (4)	 rLvfVnŸ	 (d)	 ozLqLNì

	 (1)	 1 – d	 2 – c	 3 – a	 4 – b

	 (2)	 1 – d	 2 – a	 3 – b	 4 – c

	 (3)	 1 – c	 2 – d	 3 – a	 4 – b

	 (4)	 1 – b	 2 – d	 3 – a	 4 – c

	 81.	 CÍ|p]¤ Shw}p ^skLf – 2(NW –2) 
Bp] We¨L¨OÐSffV ?

	 (1)	 YUYLjh]p]¤ AszmLh]jOU 
zL¤c]pàOo]ap]Rs ^skLf

	 (2)	 SWqt¾]Rs ké]of}qWjL¤

	 (3)	 NmùkO NfL  jh ]p ]¤ 	
yLh]	p oOf¤ NiLNm]vRqpOç 
^skLf

	 (4)	 o¦ScLv] yOvLq] jh]W¥

	 82.	 \OvRa S\¡¾]ŸOç v]nv°Rt 
D\]foLp] fqU f]q]¨OW.

	 i.	 WLãV  	  ii.	  SsLz°¥
	 iii.	 CÌj°¥ 	iv.	  vjU
	 (1)	 i DU ii DU 	kOj:òLk]¨ 	
		  RÕaOÐv 
		  iii DU iv DU	 kOj:òLk]¨RÕ 

aL¾v
	 (2)	 i DU iv DU 	kOj:òLk]¨ 	
		  RÕaOÐv 
		  ii DU iii DU	 kOj:òLk]¨RÕ 

aL¾v
	 (3)	 iii DU iv DU 	kOj:òLk]¨ 
		  RÕaOÐv 
		  i DU ii DU	 k O j : ò L k ] ¨ R Õ 

aL¾v
	 (4)	 i  	kOj:òLk]¨RÕaOÐfV ii,
		  iii, iv kOj:òLk]¨RÕaL¾v

	 80.	 Match the correct pair of the  major 
nuclear power stations in India and the 
states in which they are located ?

	 1.	T harapur	 a.	T amil Nadu

	 2.	N arora	 b.	 Rajasthan

	 3.	K alpakkum	 c.	U ttar Pradesh

	 4.	 Rawatbhata	 d.	 Maharashtra

	 (1)	 1 – d	 2 – c	 3 – a	 4 – b

	 (2)	 1 – d	 2 – a	 3 – b	 4 – c

	 (3)	 1 – c	 2 – d	 3 – a	 4 – b

	 (4)	 1 – b	 2 – d	 3 – a	 4 – c

	 81.	W hich water way in India is considered 
as National Water Way – 2 (NW – 2) ?

	 (1)	T he water way in River Ganga 
which connects Allahabad and 
Haldia

	 (2)	W estern coastal canal in Kerala
	 (3)	T he waterway in Bhrahmaputra 

river which connects Sadia and 
Dhubri

	 (4)	T he Mandovi and Zuari rivers

	 82.	 Classify the following resources 
suitably.

	 i.	W ind	
	 ii.	 Metals
	 iii.	 Fuels
	 iv.	 Forest

	 (1)	 i and ii renewable

		  iii and iv non-renewable

	 (2)	 i and iv renewable

		  ii and iii non-renewable

	 (3)	 iii and iv renewable

		  i and ii non-renewable

	 (4)	 i renewable, ii, iii and iv non-
renewable
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	 83.	 oLYVjRRãã]R£ wq]pLp 
		  v]SwxeSofV ?

	 (1)	 oLUYj}y]R£ NkiLj Ap]qV

	 (2)	 AsOo]j]p¾]R£ Ap]qV

	 (3)	 Dp¡Ð j]svLqoOç CqOÒp]qV

	 (4)	 CvRpLÐOsæ	

	 84.	 z]oL\¤ NkShw]Rs oe]Wq¢ IÍ]
jL¤ Nky]ÈoLeV ?

	 (1)	 nTofLSkL¡² kÈf]

	 (2)	 I¹ wOÈ}WqewLs

	 (3)	 s]YVRRjãV XjjU

	 (4)	 vLSfL¡² j]spU

	 85.	 qºO qL^|°tORa Shw}p vqOoLjU 
fOsæ|oLeV. IÐL¤ CvWtORa wqLwq] 
vqOoLjU v|f|ñoLeV. Bpf]R£ 
WLqeU WRº¾OW.

	 (1)	 ^jyUX| fOsæ|oLeV
	 (2)	 Dp¡Ð wqLwq] vqOoLjoOç 

qL^|¾]Rs ^jyUX| WOrvL 
eV

	 (3)	 fLuVÐ wqLwq] vqOoLjoOç qL^| 
¾]R£ RfLu]¤ SyjpORa I¹U 
WOrvLeV

	 (4)	 Dp¡Ð wqLwq] vqOoLjoOç 
qL |̂¾]R£ WToLq¨LqORa I¹U 
WOrvLeV

	 86.	 oLjv v]Wyj yP\]W We¨L¨OÐ 
f]R£ Aa]òLj ZaW°¥

	 (1)	 v]h|Ln|LyU, BSqLY|U, 
yLoPz| yOqƒ]ff~U

	 (2)	 v]h|Ln|LyU, BSqLY|U, 
vqOoLj Ayof~U

	 (3)	 v]h|Ln|LyU, BSqLY|U, 
wqLwq] Shw}p vqOoLjU

	 (4)	 v]h|Ln|LyU, m]. IU. RI, 
v|©]fs 	yLoPz| j]svLqU

	 83.	T he correct description of magnetite

	 (1)	 The major ore of Manganese

	 (2)	T he ore of Aluminium

	 (3)	T he high quality iron ore

	 (4)	N one of the above

	 84.	T he Manikaran in Himachal Pradesh is 
famous for 

	 (1)	 Geothermal project

	 (2)	 Oil refinery

	 (3)	L ignite mining

	 (4)	W ind mills

	 85.	T wo countries have the same National 
Income, but having different average 
incomes. Pick out the correct reason 
from the following answers.

	 (1)	T he size of population is equal 

	 (2)	T he country with higher average 
income country is less populated

	 (3)	 In the country with lower average 
income, the working population is 
less

	 (4)	 In the country with higher average 
income the size of the juvenile 
population is lower

	 86.	H uman development index is measured 
on the basis of 

	 (1)	E ducation, Health and Social 
Security

	 (2)	E ducation, Health and Income 
inequality

	 (3)	E ducation, Health and National 
average income

	 (4)	E ducation, BMI and Social status 
of individuals
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	 87.	 yLÒ¾]W vt¡\ÿpORa NkLqUn 	
ZŸ°t]¤ S hw}p vqOoLj¾]R£  	
NkiLj SNyLfôV

	 (1)	 Nf]f}p SoXs

	 (2)	 j]¡ÚLe SoXs

	 (3)	 RkLfO SoXs

	 (4)	 WL¡x]W SoXs

	 88.	 SsLW¾ ]sOç ks hq]Nh NkShw 
°tOoLp] fLqfo|RÕaO¾OSÒL¥, 
RI. IU. B¡.R£ WLq|¾]¤, 	
C¢c|¢ pPe]pj]Rs KqO yUòLjU 
k]rW]sLeV.

		  fLRu RWLaO¾]q]¨OÐvp]¤ 
		  j]ÐOU wq]pLp D¾qU Rfq 	

R´aO¨OW.
	 (1)	 m}zL¡
	 (2)	 Kr}ô
	 (3)	 oÈ|NkShwV

	 (4)	 D¾¡NkShwV

	 89.	 CTaV j¤WLRf vLp× sn|oL¨OÐfV

	 (1)	 yzWqe mLËOW¥

	 (2)	 NkLShw]W NYLo}e mLËOW¥

	 (3)	 IyV. I\ÿV. ^].W¥

	 (4)	 NYLo}¦ mLËOW¥

	 90.	 C¢c|p]Rs AjTk\Lq]W vLp×L 
SoXspORa  Nkv¡¾j°¥¨V 
So¤SjLŸU vz]àOÐfV

	 (1)	 AjTk\Lq]W vLp×L SoXs 	
cprW›¡

	 (2)	 Yv½£]R£ ijWLq| vWOÕV

	 (3)	 NYLo}e vLp×LWLq|LspU

	 (4)	 So¤kr´v KÐOosæ	

	 87.	 During the initial stages of economic growth, 

the major contributor to the GDP is 

	 (1)	T he tertiary sector

	 (2)	T he manufacturing sector

	 (3)	T he public sector

	 (4)	T he agriculture sector

	 88.	 In one of the following states of Indian 
Union, the IMR is higher than that in some 
of the poorest regions of the world.

		P  ick the answer, from the options given 
below :

	 (1)	 Bihar

	 (2)	 Orissa

	 (3)	 Madhya Pradesh

	 (4)	U ttar Pradesh

	 89.	 Credit can be obtained without collateral 
securities from

	 (1)	 Co-operative Banks

	 (2)	 Regional Rural Banks

	 (3)	 SHGs

	 (4)	 Grameen Banks

	 90.	 In India, the informal credit-sector 
activities are supervised by 

	 (1)	T he director of informal credit

	 (2)	T he finance department of the 
Government

	 (3)	T he Rural Inspectorate of credit

	 (4)	N one of the above
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	 91.	P ick out the wrong one from the following 
options.

		  MNCs prefer to work under the 
conditions of 

	 (1)	 Cheap unskilled labourers

	 (2)	 Costly skilled labourers

	 (3)	P roximity to markets

	 (4)	 Strict labour laws

	 92.	 Copra is 

	 (1)	 A judicial set-up 

	 (2)	 A quasi-judicial organisation

	 (3)	 A two-tier organisation

	 (4)	E nacted during 1985

	 93.	W ho acts as the connecting link between 
the executive head of the nation and the 
Council of Ministers in India ?

	 (1)	 Vice-President

	 (2)	P rime Minister

	 (3)	 Speaker of Lok Sabha

	 (4)	 Cabinet Secretary

	 94.	W hat is meant by West Minister Model 
of Government ?

	 (1)	 Model of Parliamentary Government 
of U.K.

	 (2)	 Model of Presidential Government 
of U.S.A.

	 (3)	 Model of one-party rule in China

	 (4)	N one of the above

	 91.	 fLRu j¤W]p]ŸOç NkñLvjWt]¤ 
RfãLpfV JfV ?

		  mzOqLNìL WÒj]W¥¨V AjOSpL 
^|oLp Nkv¡¾j kéL¾s°¥

	 (1)	 WPs] WOrvOç Av]hYVÈ RfLu]
sLt]W¥

	 (2)	 R\sSvr]p v]hYVh RfLu]sLt]
W¥

	 (3)	 v]ke] yLo}k|U
	 (4)	 W¡wjoLp RfLu]¤ 
		  j]po°¥

	 92.	 RWLkVr (copra) IÐfV
	 (1)	 ^Oc}x|¤ yUv]iLjoLeV
	 (2)	 A¡È^Oc}x|¤ yUv]iL 		

joLeV
	 (3)	 h~]fs yUv]iLjoLeV
	 (4)	 1985 &¤ BeV j]sv]¤ 	

vÐfV
	 93.	 CÍ|p]¤ qLNìfsvSjpOU oNÍ]

ynRppOU fÚ]¤ mÌ]Õ]¨OÐ 
W¹] IÐV v]Swx]Õ]¨OÐfV 
BRqpLeV ?

	 (1)	 DkqLNìkf]

	 (2)	 NkiLjoNÍ]

	 (3)	 SsLWVynL y×}¨¡

	 (4)	 W|Lm]jãV RyNWŸr]

	 94.	 RvðV o]¢ð¡ oLfQWp]sOç Yv¦ 
Ro£V IÐfVRWLºV A¡ÀoL¨OÐfV 
IÍLeV ?

	 (1)	 Nm]Ÿj]Rs kL¡sRo£r] oLfQWp]
sOç Yv¦Ro£V

	 (2)	 ASoq]¨p]Rs Nky]c¢x|¢ 
oLfQWp]sOç Yv¦Ro£V

	 (3)	 RR\jp]Rs JWWƒ] oLfQWp]
sOç Yv¦Ro£V

	 (4)	 CvRpLÐOosæ
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	 95.	W ho has the power to enlarge the jurisdiction 

of the Supreme Court of India ?

	 (1)	P arliament by law	

	 (2)	T he President of India

	 (3)	 Chief Justice of India

	 (4)	T he President in consultation with 

the Chief Justice of India

	 96.	W hich of the following is not an All India 
Service ?

	 (1)	 Indian Administrative Service

	 (2)	 Indian Police Service

	 (3)	 Indian Foreign Service

	 (4)	 Indian Forest Service

	 97.	W ho has the power to create or abolish 

the state Legislative Council ?

	 (1)	P arliament on the recommendation 

of the Governor 

	 (2)	P resident on the recommendation 

of the Governor

	 (3)	P resident on the recommendation 

of the State Assembly

	 (4)	P arliament on the recommendation 

of the State Assembly

	 95.	 CÍ|¢ yONk}U SWLaf]pORa Ai]	

WLqU 	 v¡È]Õ]¨OÐfV BqLeV ?

	 (1)	 j]poU oPsU kL¡sRo£V

	 (2)	 CÍ|¢ qLNìkf]

	 (3)	 CÍ|pORa \}lV ^ð]yV

	 (4)	 \}lV ^ð}y]R£  DkShw 		

NkWLqU qLNìkf]

	 96.	 fLRu RWLaO¾]ŸOçvp]¤ AX]SsÍ|L 

y¡vÿ}y]¤ RkaL¾fV JfLeV ?

	 (1)	 CÍ|¢ AcVo]j]SNy›ã}vV 

		  y¡vÿ}yV

	 (2)	 CÍ|¢ SkLs}yV y¡vÿ}yV

	 (3)	 CÍ|¢ SlLr]¢ y¡vÿ}yV

	 (4)	 CÍ|¢ SlLrðV y¡vÿ}yV

	 97.	 yUòLj j]poj]¡ÚLe WT¦y]¤ 

qPk}Wq]¨OvLjOU j]¡¾sL¨OvLjOU 

Dç Ai]WLqU B¡¨LeV ?

	 (1)	 Yv¡¹qORa wOkL¡w NkWLqU 

kL¡sRo£]jV

	 (2)	 Yv¡¹qORa wOkL¡w NkWLqU 

qLNìkf]¨V

	 (3)	 yUòLj j]poynpORa  	

wOkL¡w NkWLqU qLNìkf]¨V

	 (4)	 yUòLj j]poynpORa 		
wOkL¡w NkWLqU kL¡sRo£]jV
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	 98.	 Constitutionalism does not mean

	 (1)	 Government based on 

Constitution

	 (2)	 Government limited by 

Constitution

	 (3)	 Government not limited by 

Constitution

	 (4)	 Government which functions 

according to law

	 99.	W hich of the following committee is 

related to electoral reforms in India ?

	 (1)	 Singhvi Committee

	 (2)	 Indrajit Gupta Committee

	 (3)	 Sarkaria Commission

	 (4)	 Ashok Mehta Committee

	100.	W hich of the following is not a feature 
of a Democratic System ?

	 (1)	 Commitment of the Government 
to the people

	 (2)	T olerance to consider opposite 
points of view

	 (3)	E nhancement of the dignity of 
citizens

	 (4)	 Daniel of freedom of expression

	 98.	 SWL¦ð]ã|Pxjs]yU IÐ khU 
RWLºV A¡ÀoL¨L¾fV JfLeV ?

	 (1)	 n q e Z a j p O R a  A a ] 	
òLj¾]¤ Nkv¡¾]¨OÐ 	
Yv¦Ro£V

	 (2)	 nqeZajpL¤ kq]o]fRÕaO 
¾RÕŸ Yv¦Ro£V

	 (3)	 nqeZajpL¤ j]pNÍ]¨ 	
RkaL¾ Yv¦Ro£V

	 (4)	 j]po¾]R£ Aa]òLj 
¾]¤ Nkv¡¾]¨OÐ Yv 
¦Ro£V

	 99.	 fLRu RWLaO¾]ŸOçvp]¤ CÍ|p]Rs 
f]qR´aOÕO kq]ëqevOoLp] 
mÌRÕŸ WÚ]ã] JfV ?

	 (1)	 y]UYVv] WÚ]ã]	

	 (2)	 CNÎ^]fV YOkÅ WÚ]ã]

	 (3)	 y¡¨Lq]p WÚ}x¢

	 (4)	 ASwLWV So¾ WÚ]ã]

	100.	 fLRu RWLaO¾]ŸOçvp]¤ ̂ jLi]kf| 
v|vò]f]pORa yv]Swxf AsæL 
¾SffLeV ?

	 (1)	 ^j°StLaV Nkf]mÈfpOç 
nqeWPaU	

	 (2)	 v|f|ò An]NkLpU SW¥¨O 
vLjOç yz]xVefL oSjL 
nLvU

	 (3)	 kTqR£ AÍôOp¡¾¤

	 (4)	 Bv]ëLq y~LfNÍ|U 
		  j]Sxi]¨¤

______
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